Answers

Testing for Test Weight Per Bushel

1.
Approximately 1000-1050 grams (or 1 1/8 to 1 1/4 quarts.)

2.
Wheat, barley, flaxseed, rye, and triticale.

3. In terms of whole and tenths of pounds, to the nearest tenth of a pound.

4. In whole and tenths of pounds, to the nearest tenth of a pound.

5.
(  Failure to use enough grain for the proper overflow.

(  Improper stroking of the kettle.


(  Excessive jarring of the test weight apparatus.


(  Failure to center the hopper over the kettle.




(  Pouring the test portion into the hopper with the valve open.

6.
Report the accident to the Chief inspector so that a volume checktest may be performed on the kettle.

7.
(  Center the hopper with the valve closed over the kettle.


(  Pour the test portion (1000-1050 grams) into the hopper.

(  Open the hopper quickly to release the grain.

(  Using the standard stroker, stroke the kettle cleanly with 3 full-length zigzag


   motions.


(  Hang the kettle on the beam, or place it on an approved scale.

(  Move the beam weights until the beam is balanced in the center of the trig loop,

                  or until the scale reading is stable.


(  Record the weight on the pan ticket.

8.
Hang the empty kettle on the beam load loop, and set the beam weights at zero (0). If the beam comes to rest in the center of the trig loop, the apparatus is in balance.

9.
In whole and half pounds.

10. 55.5;  54.0;  56.5;  56.0 respectively.

11. In terms of whole and tenths of a pound.

12. A factor only analysis for factors that there is enough grain to make a determination may be done, or the request for service should be dismissed.

